@ HURAKAN
GLASS FROSTER HURAKAN HKN-GF1000

15 1
' &
17 z
18 L I i
s — e
32 % @= N 5
~- ﬁ'i 6
% (-1
33 |
< ,ﬂ o 8
| 9
= X 10
2
19 T
20 uh \ i
| I |||I ||
| |l L
il
2 ||| lill ||| |||| 2 11
B | o 12
22 1]
23 ||| i 1 J,J;J 13
" e ) 14
25 i | l'll !
| L
2% ,L,,
27 B
98 g
29 .
@
30 =
31



GLASS FROSTER HURAKAN HKN-GF1000

Ref. | Part name
1 Plastic top cover
2 Solenoid fixture
3 Microswitch
4 Slotted screw iron nickel plating M4x26
5 Air bend pipe
6 Bend pipe screw head
7 Jet cover
8 Air vent
9 Heat shrinkable tube diameter 3-5mm
10 | Capillary @2.5 steel tube L = 480
11 Main body
12 | LED light cover
13 | LED light
14 | Bottom holder
15 | Anti-loosen nut galvanized iron M6
16 | Hexagonal screw M6X80
17 | Support frame
18 | Slotted screw iron nickel plating M4x4
19 | Screw head set 1"
20 Fluoroplastic wire L =420
21 | Stainless steel cable
22 Piezometer tube
23 M8X10 Hexagonal screw
24 | Screw sleeve
25 Hexagonal screw M12X108
26 | Heat shrinkable tube @10 L=1700 black ROHS
27 | Screw head set 2"
28 | Copper screw stud
29 O-ring
30 Copper screw nut
31 | Square wrench
32 | Solenoid
33 | Adaptor
34 Power cord

@ HURAKAN



